?.,.‘
N A
86C9T 61 = 9¢'T¥8 €8 LY'TS6 LE 68°688 St - 9SveT 1T suHaaal00Wog
S9°659 ¥T - 6C'TE6 €9 81916 8¢ TT'STOSE - €L0958 ol:) 4
96°6TS 6V - Z'E89 8y €989 ETC 80°L66 VET - 7’602 82 9MHAVLOLD
EE0TL VI 04997 €ST 96'€86 2T 9°266 €€ 90'vLZ 61T S9'TOL € (Land WiaHMa) 1tHowad MiIGHAveLMLEY
00°00S T 2MHRE0TaDg0 S0HIBhMLAIdBHE
00°00S € 1a10ged alqHaralmdawenodiare
00°000 € 1m ¢z HAA XI9HRUUA BHIWEE
- 00859 91 - 1m T avad orod
9 (9MH3M3820 30HKMIA) BOHMHAVNLE8) BHBOHBLIA
= 00°09% 67 - - WU ZT OF] 80BN 80H10ERA BHaWeE
9T'¥E9 VT ¥6'898 1T -| O00°BIT VS (4% JAN4A vyvLL 9L 8E'GTSYE -| v8LEDOT 1Howad yumANaL
9¥'8¢E LE6'6TY L6'6TY v.00% 0’6tV = - 29X 02
9t % 0Z°'S6 07’s6 8L°L8T 0¥’06T = - €E N0D
TS€6C9 #\88°0TECT -| €£€895¥0C £8'95¥ 0C £0vET ST 847209 8¢ i 9L V6 T 09L
LELIGLT SLEVCTT -| 9£'869S¥ £L°60F 0§ SE0EV 9L 8L°9vC 78 95°L19 ¥6°00T 0T auHexdaro)
IS E0V € 66'8ET -| £¥8069 L7'8YS S 9.'86¥ 6 09'929 0T GET6S T 89°G/ZT nndownddal exdogg
Ot'¥19 9¢ €9°E6LEZ -| 99'€90EL t0'SIv 9L PTE9T TIT o9T'9.b €71 16°802 2 SE'TOE VT "h’L 8 duHexda'o)
8T0TCT'IE e 8T0Z'T0'T0 BH
EH BMHOL2IBH SLOFTI'LE Hevsai SRy OH3hEWLQ OHIWIUhEH SHO¢IOTO EWMHBWBH mirof
eH oifaue) 10ged oHaHoLIag eH oare)
uivod
8102 1 seHavrediHa) osowod |

SN auHawowKnd(]

41213dD XI9HKIHIT MMHIKMET O 13h10 O80T ol




